

■ 次の  に 1 から 9 までの 整数 をあてはめて、正しい式を作りましょう。

①  × (7 + 4) = 44

② 36 ÷ (5 + ) = 4

③ 89 - 8 ×  = 25

④ (5 + 7) ×  = 60

⑤ 79 - 63 ÷  = 70

⑥ 12 - ( + 7) = 3

⑦ 6 + (8 - ) = 9

⑧ 19 - 9 -  = 3

⑨ (20 + 12) ÷  = 4

⑩ 8 × 9 +  = 76

⑪ 9 -  + 3 = 8

⑫  + 2 - 3 = 7

⑬ (20 - 2) ÷  = 6

⑭ 1 + 2 ×  = 15

⑮  × (35 ÷ 5) = 56

⑯ 4 + 6 ÷  = 7

⑰ 15 ÷ ( - 3) = 3

⑱ ( - 2) × 8 = 48

⑲ 15 - ( - 1) = 13

⑳ 20 ÷  - 1 = 3

㉑ 4 ÷ 2 +  = 9

㉒  × (4 - 1) = 21

㉓ 24 ÷  × 4 = 16

㉔ 4 ×  - 4 = 8

■ 次の  に 1 から 9 までの 整数 をあてはめて、正しい式を作りましょう。

①  × (7 + 4) = 44

② 36 ÷ (5 + ) = 4

③ 89 - 8 ×  = 25

④ (5 + 7) ×  = 60

⑤ 79 - 63 ÷  = 70

⑥ 12 - ( + 7) = 3

⑦ 6 + (8 - ) = 9

⑧ 19 - 9 -  = 3

⑨ (20 + 12) ÷  = 4

⑩ 8 × 9 +  = 76

⑪ 9 -  + 3 = 8

⑫  + 2 - 3 = 7

⑬ (20 - 2) ÷  = 6

⑭ 1 + 2 ×  = 15

⑮  × (35 ÷ 5) = 56

⑯ 4 + 6 ÷  = 7

⑰ 15 ÷ ( - 3) = 3

⑱ ( - 2) × 8 = 48

⑲ 15 - ( - 1) = 13

⑳ 20 ÷  - 1 = 3

㉑ 4 ÷ 2 +  = 9

㉒  × (4 - 1) = 21

㉓ 24 ÷  × 4 = 16

㉔ 4 ×  - 4 = 8